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Section Marks: 80

Display Number Panel: Yes

Group All Questions: No

Question Number : 1 Question Id : 4557343681 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Iff: R — R is defined by f(x) = [2x] — 2[x] for xe R . then the range of fis

(Here [x] denotes the greatest integer not exceeding x)

‘R 2R % 98 xeR 8 F(x)=[2x] — 2[x] o~ 26D, wdvth fB0E. a7
f le e [ S
(28 & [x] @38 x 8§ Dodd K8y Froosed) Srddyob)

Options:

Z. the set of all integers

i &
rToste Ddd Z
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IN. the set of all natural numbers

i

Rarez Jogrg dahd IN

R . the set of all real numbers

o

TR Dogrg da0é R

{0, 1}

Question Number : 2 Question Id : 4557343682 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical
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Given that a. b and ¢ are real numbers such that #° = 4ac and @ > 0. The maximal possible

set D S R onwhich the function/: D — R given by

Jix) zlog{mj +{.¢Jr+:§7}.1.:2 +{b+c}:r+r.‘} 1s defined. 1s

TS Dopgen a.b. ¢ oo B* =4ac. a > 0 wdhgirtn Gamon. Hibaho f: D> R,
f{I]:]Dg{(m’.3+{a+b)Iz +{b+c=}:r+c} m Odghgo sIFOE Dodhy eHESD

Sw&E DCR

Options:
w23
] 1 2a
Z} b
R~ (5 (=1)|

Question Number : 3 Question Id : 4557343683 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

For any natural number 72, (15 x 52%) + (2 x 2%) is divisible by

DB B Hopg n 8, (15 x 52 + (2 x 23) § YPhAom grhowd Sowg

Options:
7

o]
ki
[

Question Number : 4 Question Id : 4557343684 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical
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3 -3 4
Forthe matrix 4={2 -3 4/|.Al=
0 -1 1
3 -3 4
S8 4=|2 -3 4|8 A'l=
0 -1 1
Options:
1A
n A2
%
4 A*

Question Number : 5 Question Id : 4557343685 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

k2 0 0 I ly 0
fA=| 0 % 0 |and4'=| 0 %
0

0
0
0 e A

thenk+/+m=

;;2 0 0 5 0 0
A=1 0O % 0 | %850 A 1=| 0 13 0 | monad k+1+m=
11 1
_{l 0 4| _{] 0 N
Options:
i1
2.9
3 14
4.29
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Question Number : 6 Question Id : 4557343686 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

If A and B are the two real values of k for which the system of equations
x+2v+z=1l.x+3v+4-=kx+ 5+ 10-=F is consistent. then A+ B =

x+2r+z=lx+3v+4z=kx+5y+10z =1 =3 Sgdere 5553 HordSBrgodrd:
55055 k Gng) Bodh THS denden A 18050 B wond, eiyd A+B=

Options:
1 3

2. 4

Question Number : 7 Question Id : 4557343687 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

=1
Let -=x+#v and a point P represent - in the Argand plane. If the real part of - is 1. then
a point that lies on the locus of P is

z=x+iv5H0oin sgrofdeod® 25 Hrod HokhPd P wbhEomro. _T @BE) 7R
' z+1i

aeiio 1 wond, P B»nE) Hohdgon &oB es Hodd
Options:
| (2016, 2017)
, (2016, 2017)
, (=2016. —2017)

4. (2016, —2017)

Question Number : 8 Question Id : 4557343688 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical
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If13e 1

[

= a +1ib. then the ordered pair (a. b) =

13e 12 —a+ib wond, ghosno (a.b) =

Options:
1, 12, 5)

(5. 12)

L2

5 (24, 10)

(10, 24)

I

Question Number : 9 Question Id : 4557343689 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

o

] ) ] [ 1 3 |23
If:1= —-_":::2=l—rand:3=3+4z.theu‘—Jr—j—:
-1 =2 =2
e i — Vs = = i e T —— --"‘""‘l??. £ i iii_
5 1 -25z,=1 1,2, 3 +4i moxnad, sheddd - =g
a1 Z2 /)2
Options:
1 13 —6i
4 13 <31
13,
6——1i
3 2
| -
— —3i
2

4.

Question Number : 10 Question Id : 4557343690 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical
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1 1 1
+ — o=
1+20 24+ l4+o

If 1. . @ are the cube roots of unity. then

1 1 1
1. m. o ~EEH0 @ 8 Suorereond, + — =
= R+ TR 14200 2400 14 @
Options:
1.1
2. @
3. W
4.0

Question Number : 11 Question Id : 4557343691 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The number of integral values of x satisfying Sx—1 < (x+ 1)? < 7x—3 is

Sx—1<(x+1P2<Tx—38 ) D03 X B0E Froos Jende Hopg

ES

Options:

1. 0

+
L]

Question Number : 12 Question Id : 4557343692 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

For real number x, if the minimum value of £ (x) = x> + 2bx + 2¢? is greater than the
v2 —2¢x + b2, then

maximum value of g(x) =—
x 9% Sopg wondHyd, f(x) =x242bx+2c GI0¥), 38 DHend, gx) =—x2_2cx + b2
Goog), K8 Jend SoB Iy D 008, wHd
Options:

1 (‘2 = ZEJ‘:

1 Cr=2h?

-
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Question Number : 13 Question Id : 4557343693 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

If a. b and ¢ are the roots of ¥° + gx+1r=0. then (a — BY+(b—eY+(c—a)i=

a.b.cen X3+gx+r=038 Srodd, (a-bP+G-c)P+(c—a)=

Options:
1, —6¢

Question Number : 14 Question Id : 4557343694 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

3

If the sum of two roots of the equation x> — 2px? + 3gx — 47 = 0 is zero. then the value

ofris

¥ = - —_— - o —_
A —2pat 4 3gx — 4r = 0 HDoE8esn @08 B0 DTrOS0e JNED0 DY) WONS,
I e
Options:
3pq

4 2Pq

Question Number : 15 Question Id : 4557343695 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical
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The sum of the four digit even numbers that can be formed with the digits 0. 3. 5. 4 with out
repetition is

DdoSyso som 0. 3, 5. 4 @i wosed JI6E Trenih @S B8 Hopge FNEHN

Options:

. 14684

43536

L2

3 46526

Question Number : 16 Question Id : 4557343696 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

If x 1s the number of ways in which six women and six men can be arranged to sit in a row

such that no two women are together and if v 1s the number of ways they are seated around
a table in the same manner. then x:y=

2 QG @Dﬂ} 5§90 Sr&)\Soom GoBty shihd) @&}31 esHiHd PHHrodH wE SHdS
SrEHEE dTre dopg x ©d; T°00 @B Sredm wf HolEd e iy Er5DE I
Hopg ¥ @l ©HF0d wivd xy =

Options:

1. 325 1

42:1

L-2

11611

Question Number : 17 Question Id : 4557343697 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The number of 5-letter words that can be formed by using the letters of the word
SARANAM 1s

SARANAM Hd0e5™d siood &3@3ridr Bd&dzﬁﬁ@ 5-05070 HT Howg

Options:
1, 1120
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2. 6720
3. 480

4 720

Question Number : 18 Question Id : 4557343698 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

100
The number of rational terms in the binomial expansion of ( f’fg +3/4 } 15

' 100 n
(5+304) " mwy 6156 svs0en essdon sSs0we vopg

Options:
1. 50

Question Number : 19 Question Id : 4557343699 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

; : ; , ; . 1
The numerically greatest term in the binomial expansion of (2a — 35)!" when @ =— and == i

4

o | 1D

i | 1

1
(2a— 3b)1° @), BHS DHBS a =5 00050 H=— monsH, Sogrgdigomr 183 Hdo

Options:
oll
1

19C‘3 | 511

L2

1

Ca 413

13
S
, 19¢, 2
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Question Number : 20 Question Id : 4557343700 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

x> +5x+7 A B C
= - +
{.r—3)3 (x—3) (.1:—3_}2 (:-:—3_]3

A and passing through the point (B.C) 1s

. then the equation of the line having slope

X2 +5x+7 A B 'S, r ,
= o 2 BONT WIYE A O Teorm £00, Hohd

[1‘—3}3 {x—3) {.1;—3}2 {.1(—3:}3

(B.C) ago ¥ad H8¢0p HrEdmo

Options:

| X+y—-20=0

, X—y+20=0

, ¥+y+20=0
o ._j —

4 X—¥—-20=0

Question Number : 21 Question Id : 4557343701 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

H b1

2,

If cos are in a harmonic progression. then cos x =

; . -
E
1'—? l . CO5X, C{)S[ X+

I'.

Y f
T i _
cos| x— ' COSY, msl 1‘+—1 e wf o §EGe° o8, cosx =

i’

bra
Y
j -

Options:

b3 | e

-2
[o—

L4
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Question Number : 22 Question Id : 4557343702 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

cos>110°+cos” 10°+ cos> 130° =

Options:

Question Number : 23 Question Id : 4557343703 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

: : 4 T
If the general solution of sin5x = cos2x 1s of the form @y e forn=0,£1.22. ... theng,=

. - (.T -
n=0 £l 2, & smSx=coslx Gwg) rdm rdd d, = Or0es” €oel =ovd a.=
Options:

2n

H

| 5+2(-1)
Fi

2n+(—1)
n

“

5 5+2(-1)

2n+1
= H
5+2(-1)



2n—1

H
A S+2(-1)

Question Number : 24 Question Id : 4557343704 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

let x. v be real numbers such that x2yv and xv=1. If m‘+bsec(Tan_1.r] =¢ and

_ s X+ v
ay +bsec(Tan }'] =c. then T =

. - : . : B
RSBoPEHy X ¥ o) XxZ2) El ecdhgbin aanoHdesod. f;r.r+bseclTa11 1‘]2?

Xty
1—xy

50050 a}’+bse¢(Tm1_1_v]=r:. 250303,

Options:
2ab

3 3
| & —

2ac

5 =
T

-2

2ab

2 F
5 B Rl

2ac
2 7

A

y =T

Question Number : 25 Question Id : 4557343705 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

~311 s
tanh 1;—!—@3{11 I3

Options:

1 log+/6

, log6



3 ._l‘}g\/g

4 —log 6

Question Number : 26 Question Id : 4557343706 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

: . . tan 4
If the median of a AABC through A is perpendicular to AC. then e

tan C

X " . tan 4
a8 |@ghezo ABC &° A thomardh duggido, AC § oo 08, w9 =
tan C’
Options:
1l ].-l-‘\'E
1

+1

a
Pivy

-3

[ §]

s
tad

Question Number : 27 Question Id : 4557343707 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

4 B
I AABC. TElH? 4+ tan? -

; A B
AABC & Tall?-l- tan: =

Options:

£
c cot—
=

1 45
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e cntE
2

., a+b+c

C
2c tan—

C
c tan—

a+b+c

Question Number : 28 Question Id : 4557343708 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Ina A ABC.D. E and F respectively are the points of contact of the incircle with the sides

ooy

AB.BCand CAsuchthat AD=o. BE=Band CF=Y. then ————=
a+p+y

'AABC ", ghebwen AB. BC $8osn CA &) &3 |E3gfoe: aoedd X}Eéﬁ}} F&ﬁ%’o?ﬁ’a fodhagen

oy
S56o%m D, E 508050 Feo AD=a, BE =B, CF = yedhgtin 4o, _abr
& a+pG+y
Options:

| R?

13

Question Number : 29 Question Id : 4557343709 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical
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Let 7.5 and ¢ be three non-coplanar vectors. The vector equation of a line which passes
through the point of intersection of two lines. one joining the points

@ +2b —5¢.—a —2b — 3¢ and the other joining the points 476G —4b + 47 is

.5 .Ten SHrth wsdoh 56405808, G4+2b—5¢.~d—2b -3¢ DHohHes §8%
T So803n _A7.6T—4b + A7 Hododed 80 Boe podd Doty Hom FR, wE
By BnE) JbF SMEdo

Options:

| T=2a—4b +3¢+u(@—6b +47)

7F=3a+6b—c+ula+2b+c)

L2

F=—2b +3¢+ u(@—4b +3¢)

Question Number : 30 Question Id : 4557343710 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

In APQR. M is the mud-point of QR and C 1s the mid-point of PM. If QC when extended

APQR &° QR Sogghioh) M $5:805n PM Sogg Hohd C. QC & &AcdSHyd PRS

j]
=

meets PR at N then

™
=

'S
=

Do N 3¢ 8975

2

Options:
1 1

2

L2
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Question Number : 31 Question Id : 4557343711 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

fg=7-27-3%k.b=2T+7-k.e=7+3] -2k .

theu.[(ﬁxf?]x[gw_"] (b x¢)x(c=a) {Frrﬁ]x{ﬁxb}]:

[(HVE]:{{E!’F] (B x7)x(zxa) [EKH'];{Ty_;]]:

Options:
| 160000

, —8000
3 400

4, —40

Question Number : 32 Question Id : 4557343712 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Ha=i+2j43k.b=—i+2j+kc=i+2j-2k.7 isperpeudicularmbotll.ﬁandg.

and O 1s the angle between cand 7 thensin 0=

a=i+2j+3k.b=—i+2j+k.c=i+2j -2k =9r, a.b o5 Bokoil§ y wonomr
&obar THOHT © So3gFieasy 6 wond, sin 6=

Options:

!._:l
L}
Py
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Question Number : 33 Question Id : 4557343713 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

If @.h andz are mutually perpendicular vectors of the same magnitude. then the cosine

of the angle between Fand @+5 +7 is

a.b 58050 7 o0 a8 HBSro0 085 HEBNE Lo HHFen wond, T HHBASM a+b+c®
gl T Fpo dend

Options:

= L
SH- 5

b | —

o5

Question Number : 34 Question Id : 4557343714 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

It @.band? are non-coplanar vectors and the four points with position vectors

2a +3b —C.a—2b +3¢.3a+4b —2¢ and kG —6b + 6¢ are coplanar. then k=

75T o wsdoH Bbden $obosw 2T +3b —T, T —2b +3¢.37 +4b — 2T 55805»

kit —6b +6¢ ©& &8 HHFeomr o orend Hodhifen HEOrnoNd wivd k=

%
5

Options:
1 0

L2
ok

a
L)
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Question Number : 35 Question Id : 4557343715 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The mean and the standard deviation of a data of 8 items are 25 and 5 respectively. If two
items 15 and 25 are added to this data, then the variance of the new data is

8 mozen fio .l daeoddn cﬂa}% Eoﬁéacﬁgé}éﬂ a080dn Edddoaen S6Sm
2

5 50Bc85n 5. 8 SEmodSnsd Do =omen 15 S8 25 o Eﬂq\jra—-‘ DN Bras

4 29

Question Number : 36 Question Id : 4557343716 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The mean deviation from the median for the following distribution (corrected to two
decimals) 1s

Sod Dgraaros S5 Hdo SHod MG ISOSSN (Bod GFod rddnes JS500Em)

X 6 9 3 12 15 1

21

L]
(]
(]

h
tad
()
A
.
=~
I'_JJ

f; 4

Options:
1.13.42

2 5.45
3. 4.97

i TS

Question Number : 37 Question Id : 4557343717 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



www.andr oi d. previousquesti onpaper s.com | WwWw. pr evi ousquesti onpaper s.com | WWw.i 0S. previousquesti onpaper s.com
If a die 1s rolled three times. then the probability of getting a larger number on its face than

the previous number each time. 1s

uE rHEN Hardh a’nmgaﬁa;ﬁ:um Sgoaéﬁjcﬁ:? o L‘Schdiza'm ove) émmo_:.g e S
18€0 DHES dopg 08 g dopg orie HogrHgd

Options:
15

| 216

5
2 54

A=
; 216

Question Number : 38 Question Id : 4557343718 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

A man i1s known to speak the truth 2 out of 3 times. If he throws a die and reports that it is
six. then the probability that it 1s actually five. 1s

28 ;‘:’:g_én DoFGoL) Eocﬁjﬁv@ Srigad Do e, @dh sl FRES B8, ;’}ﬂ{mﬁ ﬁosg}gzﬁa
sdHr BHB, oldor @b ndh sHTIE Ko dogrdgd

Options:

3

) 8

!.d
-1 | -2 ] |

wh | d=
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Question Number : 39 Question Id : 4557343719 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical
k

fﬂf
!

If the probability function of a random variable X is definedby P(X =Fk)=a |

f=0. 1. 2. 3. 4. 5 then the probability that X takes a prime value is

2.8 oISy g Koo @nE), Sogrdge Pabohod, k=0.1.2.3.4.58 P(X =k)= nl
T | "jk

’k+1)
m c?.}dﬂgfj'i.g., ewivd X o Broof Dend &ER0ED Hozrdgd

Options:
13
20

(]
(S

Question Number : 40 Question Id : 4557343720 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

If X 15 a binomual variate with mean 6 and variance 2. then the valueof P(5<X <7)1s

wogggaodn 6 Hbotn DR 2 edhgbin X el 81HE Jeo wond, P(<X<T)
HLS5E
Options:
4762
| 6561

4672
6561

k-2

5264
. 6561
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5462
, 6651

Question Number : 41 Question Id : 4557343721 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Let A(2. 3). B(3. —6). C(5. —7) be three points. If P is a point satisfying the condition
PA? + PB? =2PC2. then a point that lies on the locus of P is

A(2. 3), B(3. —6), C(5. —7) @ Hord HohHen. P »3 Hodrsy PA?+PB2=2PC? o3
DOHBT) &&3%308, P @0¥), Hothdgo D &0a 2.8 Hohd
Options:

1 (2:-5)

(2.9

L-2

3 (13. 10)

(<13, -10)

I

Question Number : 42 Question Id : 4557343722 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

If the coordinates of a point P changes to (2. —6) when the coordmate axes are rotated
through an angle of 135°. then the coordinates of P in the original system are

DEFDHE wgros 135° 50065 o 50545 Bobm wd Dol P dng) 8¢ ddrdsen
(2. —6) wona, &9 égégﬁi = Hothy P B ddrdsren
Options:

1. (_2- 6)

(-6.2)

L2

(2/2.442)

()

4.

Question Number : 43 Question Id : 4557343723 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical
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If the portion of a line intercepted between the coordinate axes is divided by the point (2. 1)

in the ratio 3:2. then the equation of that line is

AErHsEdne Dy wodd PodsHdly wf H0¥0y BNE), ) (2, 1) «3 Do

3:2 OGS DefEn, Byl © B0 HEGDD

Question Number : 44 Question Id : 4557343724 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The equation of the line passing through the point of intersection of the lines 2x +1—-4=0.

x—3y+ 5=0and lying at a distance of /5 units from the origin. is

2x+yv—4=0,x—3y+5=0 38¢0pe okl Dot hom Fdr, Sure Doth Sok
5 oHran GrEsnst &od $6¢8p 5HE0w0

Options:

 X=2r—-5=0
I i e R |
o F D=0

._"?., P
. X=2+5=0

Question Number : 45 Question Id : 4557343725 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The equation of the line joining the centroid with the orthocentre of the triangle formed by
the points (2. 3). (2. -1). (4, 0) 1s

(<2. 3). (2. -1). (4. 0) DochHond 2HA @zhadn BN wow SoErd), © @zha SoE
rard) 887w B8Y Bp BwE), d8dno

Options:
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x+ty—2=10
l. .

5 2B =y —14=1)

y—1ly+6=0

L

X—v—=-2=0

Question Number : 46 Question Id : 4557343726 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The lines represented by the equations 23x%> — 48xy + 312 =0and 2x + 3y + 4 =0 form

23x% —48xy + 337 = 0. 2x + 3y + 4 = 0 Hdnsderody Srood HEFived NI

Options:
an 1sosceles triangle

a8 Danbceram (@eheo

aright angled triangle

2.8 wonfo |@heo

an equilateral triangle

2,8 Dadoeram |@eghao

a scalene triangle

2.8 DADeTrT |Geheso

Question Number : 47 Question Id : 4557343727 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

If the line x + 2v = Fk intersects the curve x> —xv + 1%+ 3x + 3y — 2 =0 at two points A and
B and if O 1s the origin. then the condition for | 4OB =90° 1s

x+2y=kdp, Z—xv+12+3x+3r—-2=0 SE*) A. B ©d Do Hothdho 5¢

g}oi;‘:)_go{ﬂ._ Sredohyd) O wonshyi, |A0B =90° 55708 05500

Options:

| B+k+1=0
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2 B—2k+1=0

.

; 22+ 9%k—10=0

, 3R +8k—1=0

Question Number : 48 Question Id : 4557343728 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

If 2x% + 3xv — 232 = 0 represents two sides of a parallellogram and 3x + v+ 1 =0 is one of
its diagonals. then the other diagonal is

270+ 3xy — 217 =0 ©38 g Hirodd zﬁé::d:gzza'}az @0g) Do e JrddT, 7
DETes® wi 3x+y+1=0 wond, H&E HEFS0

Options:

, =Pl
yia=dp+2=0
" 3Jv=20

A Ix—y=20

Question Number : 49 Question Id : 4557343729 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

If the lengths of the tangents drawn from P to the circles ¥ + 12 —2x + 4y — 20=0 and
12 +32—2x—8v+ 1 =0 are in the ratio 2:1. then the locus of P is

5
v

P -2+ 4y —20=050050 >+ - 2r— 8y + 1 =0 Smodh P Hod ADS
Dygoee FEHe DG 2:1 wond, P @ng), Hoddihdo

O

Options:

| P4y 20 +129+8=0

2+ —2x+ 129+ 8=0

L2

x24+324+2x—12y+8=0

2+32_2x—12v+8=0

4
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Question Number : 50 Question Id : 4557343730 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The equation of a circle touching the coordinate axes and the line 3x —4v=121s

AEFHT TS b 3x -4y = 12 D Syrod e Sfo DanEGatn
Options:

| P+l +6x+6v+9=0

242 +6x+6r—9=0

L2

_.13+‘12—61;—61'+9=0

Lad

- —6r—9=0

Question Number : 51 Question Id : 4557343731 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The pole of the straight line 9x + v— 28 = 0 with respect to the circle 242 + 212 - 3x + 5y —7=0 1s

T g )
20+ 2y -3+ 5y —T=0 o3 Sdo &

apg, I +y—28=0 5540 Dng) Gy

Options:

NERY

G.-D)

L2

3 (3. 1)

(4. -8)

T

Question Number : 52 Question Id : 4557343732 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The point of intersection of the direct common tangents drawn to the circles

' 2 2 .
(x+11) +(v—2)" =225 and (x—11)" +(y+2)" =25 is

vl

(x+11) +(v—2)" =225 So00dn (x—11)7 +(3+2) =25 Sgsnes A5 B85

&508 0o Pods Hokdd

Options: _ ) ) ) _ _ _ ) _ ) )
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=

J

, (=22, 4)
o

3 2

, (22.-4)

Question Number : 53 Question Id : 4557343733 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical
In List-1. a pair of circles 1s given in A, B. C and 1n List-II. angle between those pair of
circles 1s given. Match the items from List-I to List-IL.

erdlar-] o570 A, B, C 265 0,8 238 Svaen ’5!13':}(5:'. srfia-I1 e5°, a3 ai;,@e_} pacd 53{55 Ko

& —a

50 aSglE0b. ardar-1 %0 mowend wda-Il 5580 o486 ndichod

List-I List-II
arda-1 erdia-Il
A) (x-2%+:2=2 I) 90°
(x=20+(y=1¥=1
B) x2+12—6x—-6v+9=0 o 135°
4+ —dx+4y—-9=0
C) x*+12+4x—14v+28=0 m) 60°
P42 +4x-5=0
IV) 30°
The correct matching is
HBGS 56
Options:
A B C
1 I m
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A B 2
I I m

L2

v I I

Question Number : 54 Question Id : 4557343734 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

If the radical axis of the circles x2 +12 + 2gx + 2fi +c=0and 23> + 212 + 3x + 8y + 2¢ =0
touches the circle x> + 12 + 2x + 2y + 1 = 0. then

P47+ 2ev+ 2+ =0 508050 20+ 217 +3x + 8y +2¢=0 SHEe Srorgsn

x2+32+ 20+ 2+ 1 =0 =) 8508, v

o
Options:
& 4'Dlh—..
3
g=— 8o =2
1 4 /
g 3 2
S
3. 4‘f
i f£2
33- 4
2
g—gm“f=1
% 4
gZ; E'--Cf‘:f=1
4, &

Question Number : 55 Question Id : 4557343735 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical
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The line 1= 6x + 1 touches the parabola1? = 24x. The coordinates of a point P on this line.
from which the tangent to v = 24x is perpendicular to the line v = 6x + 1. is

$6¢09 ¥ =61 + L. dTS0oHo 3* = 24x & JPBoHDHB. H H6¥0P NS &) e
Doy PHod, v=24x8 s G0, v=>6x+ 155408 eoaorr ¢od, POdrodsen

Options:

1, =1,—8)
, (=2.-11)
; (=6, =35)
4 (=7.-41)

Question Number : 56 Question Id : 4557343736 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

A point on the parabola whose focus 1s S (1. —1) and whose vertex s A(1. 1) 1s
8 (1, —1) &, A (1. 1) 3350mS (DA dordechod Ao & Hohd

Options:

®

1,4

(1.2)

L2

—
L
2 | —
ey -

4.(2,2)

Question Number : 57 Question Id : 4557343737 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical
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An ellipse having the coordinate axes as its axes and 1ts major axis along Y-axis. passes

3
through the point (-3. 1) and has eccentricity \/; . Then 1ts equation 1s

2l

QTS epred egroar §04 dnod, Y-ofsn Jood HF egsnd fdeo e Y SyEsm

2
(3. 1) Dok Mhom &>, B ofEH s §00 ®0h. ©Hvd o &:?"“ Sydo
Hengeadn
Options:

32+ 52-15=0

[
bl
foa
_l_
L
Sty
fua
|
Lo
-
I
=

Question Number : 58 Question Id : 4557343738 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The product of the perpendicular distances drawn from the points (3. 0) and (—3. 0) to the

pobise sl =+ 2 <1 (‘E]'
tangE]l Ol e ellipse 36 27 —=L.a% 5 15

Lo Y C 93
.1L :1 L ) & Ikt E, P af o
£+§_1 5g§\é53)r3§3 [-:n,, DHochy B¢ HdS Hdops, (3. 0) Sdasn (3. 0)

Lochde Sod 4085 eondrdine m%m

Options:

| 36

27

o=

Question Number : 59 Question Id : 4557343739 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical
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The equation of the hyperbola whose asymptotes are the ines 3x+4y—-2=0,2x+y+1=0
and which passes through the point (1. 1) 1s

3x+4v—2=0.2vr+v+ 1 =0 »3 Spod «lod Syfdpem £84, (1. 1) Dodh oz
o w&dTdooiho g, Hengdo

Options:
6x2+ 11y + 42 —30x +2v+7=0

1
. 62+ 1y + 42 —x+2v-22=0

6+ 1y + 47 —x+ 2y +22=0

6+ 1lxy + 437 - 3x - Tv—11=0

s

Question Number : 60 Question Id : 4557343740 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

If the orthocentre and the centroid of a triangle are (—3. 5. 2) and (3. 3. 4) respectively. then
its circumcentre is

¥ @ahadn BuE oowBodsn $)8050 Sogrardinen SHdm (3. 5. 2). (3. 3, 4)
LWONE, °A DOsoEIAN
Options:

| (6.2.5)

(6. 2.-3)

B

(6.-2. 5)

(6, -2,-5)

Question Number : 61 Question Id : 4557343741 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical
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A Plane cuts the coordinate axes X, Y, Z at A, B, C respectively such that the centroid of the
AABCis (6, 6, 3). Then the equation of that plane is

ABC @zhao Gng) Sold o (6, 6, 3) edlgirturr, a8 dwo J6rss wgen X, Y, Zod
S5dm A, B, Co 58 poddFod. ey & doo ang), Hen8to0

Options:

| X+y+z-6=0

X+2y+z—18=0

L2

2x+y+z—18=0

Ll

, X+y+2z-18=0

Question Number : 62 Question Id : 45657343742 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

If the foot of the perpendicular drawn from the origin to a plane 1s (1. 2, 3). then a point on
that plane 1s

Sredos)) Hod el el 405 vonardo (1. 2. 3) wond, = oo o &8 Hodd)

Options:

1 (3.2. 1)

7.2.1)

L2

3, (Gdu1)

4 (6.3.4)

Question Number : 63 Question Id : 4557343743 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

www.android.univer sityupdates.in | www.univer sityupdates.in | www.ios.univer sityupdates.in



www.andr oi d. previousquesti onpaper s.com | Www. pr evi ousguesti onpaper s.com | WWw.i 0S. previousquesti onpaper s.com
If [x] denotes the greatest mnteger < x. then

o i
lim —{[lzx]+|:2‘:{']+|:321]+. I:n T]}
H—C ?’33 j
[x] 2558 x §5) I8 S 50 H0R roosd) Srddyod,

%{M+[f»f]+[3ﬂ+---+[Hﬂ} ‘

Options:
¥

j 0

Question Number : 64 Question Id : 4557343744 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical
1—+/2sinx . T
4

If a function fdefined by f(x) =+ i
_ T
k s X =
4

; " T
1S continuous at X = 1 then k=

’l—ﬁsinx

i
. XFE— 200588
f{."-'l.') = T—4x 4 i

m QEDodadS fed Hiolo X=

Options:
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Question Number : 65 Question Id : 4557343745 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

£ i ; e = Yiia
The derivative of £ (x) = x™ * with respect to g(x)=Sec > ‘ | 18
zld = ]. s

a1 ) A,
g(x)=Sec 1| 1—1‘ Syexs, f(x) — g B00), wisoetn

\ 2
Options:
1 T Tanle| logx Tanlx
=3 x =+
2 1+x~ X

~=1-x J'Tm_lx[lng("fan_lx}+ 1‘(1+1‘2]Tm1_11}

[
I

1

- logx Tan x |
—2Tan 1_1' o
14+ x° X
2
g V1-+7
1 - J_T;m-lx logx i Tan x
i
o B S e x

Question Number : 66 Question Id : 4557343746 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



5

. 2 B 3 .
If x = 3cos t and v = 4sin £, then : 2 at the point (x5.¥g) =( Eu".? 242 } .18
X

J
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. 5 3 @
x=3cos f. v=4sin { ®003, {rﬂ.}fﬂ}=[;ﬁ.2ﬁ]@od}@ S5 49

7
y dx°

Options:

W2

1.9

M2

9

3 9

-2

Y

4 9

Question Number : 67 Question Id : 4557343747 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

2 e a—>b
If ¥ =———Tan :

X -rfz '
tan — .1‘]1‘\311—j1l =
Jat —b? a+bh 2 2

dx T
K=
2
2 —1| |a—Db X . d*v
Y= Tan WoNd, LHYE = =
a- _bz ET+E.'-' 2 d_j\"' X—E
2
Options:
b
L 24>
b
)
(]
2b
a
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Question Number : 68 Question Id : 4557343748 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

1 7 I « 1 . i ; , P
If f(x) =2+ ax®+ bx + 5 sin’x is an increasing function on R . then

R 2 f(x)=2+ax? +bx+ 5 sin’x .6 &6rn B0, iy le)

Options:
| a*—3b—-15<0

a—3b+15>0

L2

, 2—3b—15>0

a4+ 3b+15>0

e

Question Number : 69 Question Id : 4557343749 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The approximate value of cos317 is (Take 1°=0.0174)

cos31” g teronod Jed (1°=0.0174 &8 0&)

Options:
, 0.7521

0.866

L3

5 0.7146

4 0.8573

Question Number : 70 Question Id : 4557343750 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

If x and v are two positive numbers such that x + v = 32. then the munimum value of
b g S
X"+ y-is,

3 2 i,
Xtry=332 wﬁjgé,:né,:gm X,y ©) 00 Jardh)§ Sopgen 08, X-+ V- B0E

), SR D0
Options:
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Question Number : 71 Question Id : 4557343751 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

ﬂ
2x+3
The constant ‘c’ of Lagrange’s mean value theorem for the function f (x)= T defind
x—
on[l.2]is
-? . ]
o g T . G i - .
[1. 2] o Q8eens .ﬂﬂ}—ﬁ wd FHosrds, Jyros aﬁ:-cﬁguﬁj e E}@Dao
(== O [=T— 7 :{-_ ¥

0Ng. moofo

L

Options:

1+4/15

._.
LS

1+421

o |

ba | s

Question Number : 72 Question Id : 4557343752 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

—Tan ! (f(x)

= sm2xdx

Y sin* x4+ cos? x

= sin2xdx

— =Tm1_1{f{x}]+c° WONE, f
Y sin” x+cos X -

L.u|..:|

Options:



)

el
[}

Question Number : 73 Question Id : 4557343753 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

3
o logx—1
J s o | B
L 14+ (logx)” |
Options:
logx
+c
, 1+(logx)
1- 1
- TC
g%+
1- 4
————+¢
3 1+ (logx)”
_-.1[- :
+c

1+ (dogx)?
. (logx)

Question Number : 74 Question Id : 4557343754 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

. dx

ey

.
.1;3 + 33"+ 2x

Options:
x+2

s
x-1

10g|1’| +log
l.

i llog|x| —10g|x + 1| —|—10g|.1‘+ 2|-|—c“



3 %[log|m‘| + log|x - 1| + log|x + 2|:| +i

Question Number : 75 Question Id : 4557343755 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

-

: i)
Fornz22.If I, = [sec” X dx, then I, _éjz =

: ) 5
n i o
n=z28 I, =|sec xdxywona, [,——1, =
7 4 P

Options:

"
| sec xtanx+c

O
—sec” xtanx+c
)

[

-

y
sec xtanx+c

k)
o |k

|
10g|5ecr +tanx|+c

(%) |

Question Number : 76 Question Id : 4557343756 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

;
limn ] ﬁ+2\/§+3\/§+...+?':\/; il
- =

i—o

=
H=

Options:

11

1o |

L2
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Question Number : 77 Question Id : 4557343757 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

I% f(x)
' Fr| 5

- dv=

L}

,
Op_tions:

2a
3

w | R 9] R

o | 2

Question Number : 78 Question Id : 4557343758 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The area (in sq. units) of the region bounded by the X-axis and the curve v =1 —x — 6x% is

y=1—x—6x2 5E3055 50d0hn Xughnss 33658 é-ﬁ-sg@ﬁ@:ﬁ DBED LRSI
(. o300eT)
Options:
123
216

—
-2
h

S

N
e
-3
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25

, 216

Question Number : 79 Question Id : 4557343759 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

If m and n are respectively the order and degree of the differential equation of the family of
parabolas with focus at the origin and X-axis as its axis, thenmn—m +n=

Sore Hothd G TP EOA Hlohn X-wgd) T Gwg), wESnm IS dordodire
5040080 GI0E), LHIEOD RinEdondn HBSTHN oty S8HE SHHm m Hdon A
wonE, @ik mu—m+n=

Options:

11

) 4

b~

Question Number : 80 Question Id : 4557343760 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Y

X X

. ; = .
The general solutionof | 1+¢&” |dx+ e’ l——]nfr =0 1s
2
X ¥
; , - 2
1+e? dx‘+e}[1——]nﬁ:=0 @), o @5
' .1'- /
Options:
¥
ye* +tx=c

1
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x
vet +x=c
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Pluysics
Number of Questions: 40
Section Marks: 40
Display Number Panel: Yes
Group All Questions: No

Question Number : 81 Question Id : 4557343761 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Two resistances 60.36 £) and 30.09 £ are connected in parallel. The equuvalent resistance 1s

Do I8 7en 60.36 Q 508050 30.09 Q 35roddSomr 5098 50865550

Options:
| 20 £ 0.08Q

20 + 0.06 Q

-2

3 20 £ 0.03Q

, 20 £ 0.10Q

Question Number : 82 Question Id : 4557343762 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical
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Assertion (A) : The velocity of a projectile at a point on its trajectory is equal to the slope
at that point.

Reason (R): The velocity vector at a point is always along the tangent to the trajectory at
that point,

Ado (A): PEDE Do a8 Do HF EHEHE0 Bng Fro = HoY SF He
SPENH KATH0.

600 (R): 28 Dochd 5§ feo I 864 poirad a8 s Hokd 5§ Gty
F08&G wodnob,

Options:
Both (A) and (R) are true and (R) 1s the correct explanation of (A)

| (A). (R) & Bodr d855m 005 (R). (A) & 375 256

Both (A) and (R) are true but (R) 1s not the correct explanation of (A)
(A). (R) &0 Bodor Hegdn s (R). (A) & $53:5 D58 s°¢h

L-2

(A) 1s true but (R) 1s false
; (A) dgadn 570 (R) wddgan

(A) 1s false but (R) 1s true
) (A) ebedgdn 520 (R) Hegsn

Question Number : 83 Question Id : 4557343763 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

A body is projected from the ground at an angle of tan™ ( % ] with the horizontal. The ratio

of the maximum height attained by it to its range 1s

2.§ DY grd Ird Hod §e Hdroddod fan_l[ El §'0& HEH0 Bohaddsd. wh

i}
\ A

rofd HOR &) N800 A args) BN WS

Options:
1 8:7

3_4:?

www.android.univer sityupdates.in | www.univer sityupdates.in | www.ios.univer sityupdates.in



www.andr oi d. previousgquestionpaper s.com | WWw. pr eviousgquesti onpapers.com | WWw.10S.previousguestionpaper s.com
3 [ o

4_1:7‘r

Question Number : 84 Question Id : 4557343764 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

A body is projected with a speed ‘u’ at an angle ‘6" with the horizontal. The radius of curvature

of the trajectory when it makes an angle [ i I with the horizontal is
2

(g - acceleration due to gravity)

e
Gl
£

L

Saroddost ‘@ Fo Daindr ‘v7 S&F a8 SHJH BHEHNo BTd. SH HES0

e
Gl
i

Hdrosdos [E l S'dn DatnSHd HE SEa mgﬂ*gfm
\ 2 )

(g - r“l:u:imi&ﬂg éﬁd@ao}
Options:

5
u’ cos” Bsec’ ( 0 & )

1; \Eg

1’ cos” Bsec’ (%)

, 2g

.2113 cos’ Bsec’ (%)

g

u? cos? Bsec’ (%]

4. g

Question Number : 85 Question Id : 4557343765 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical
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Sand is to be piled up on a horizontal ground in the form of a regular cone of a fixed base of

radius R. Coefficient of static friction between the sand layers is g. Maximum volume of
the sand that can be piled up in the form of cone without slipping on the ground is

%d?@é 5 argirgan R e o050l 58 2088 “ﬁm‘;.@. Q08 e Sudy E@é Botied
rzaESn 1 ®ond ¥ Ju B EE0m $o&d) ermrHodidn gt HBR HHHHBSrB

Options:
pR3
1 A
HRE
7, 3
iR’
3 M
mei
4y 3

Question Number : 86 Question Id : 4557343766 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical
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A block of mass 2 kg 1s being pushed against a wall by a force F =90 N as shown in the
figure. If the coefficient of friction 1s 0.25. then the magnitude of acceleration of the
block is

]

2 kg (835078 Ko &8 630y 90 N wood” a8 Ads SgE08om Htroes* Srdedstynm

dhadEos. Hdn Hdo 0.25 ©wond s &k, #5800 HBAT00

/

(=10 ms™>) [ sin37°=

| e

; 3}
(=10 ms™) { sm37°= 1 J
.
0
L
-
b
L~
E A
L
37° ::
/
L
Options:
| 16 ms™
7 8 ms?2
7 38 n -2
4 4 ms 2

Question Number : 87 Question Id : 4557343767 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

A body of mass 2 kg thrown vertically upward from the ground with a velocity of 8 ms™!
reaches a maximum height of 3 m. The work done by the air resistance 1s

(Acceleration due to gravity = 10 ms™)

8 ms1 3o gy Ard H0d §8=eonom 28 ID6wdS 2 kg B5g0R Ho 2.8 55
DOH 10R Iy 3 m. D AT Fo SoH 2BAS B

(o8 Sedeo = 10 ms™)

Options:

1 417
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Question Number : 88 Question Id : 4557343768 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The system of two masses 2 kg and 3 kg shown in the figure is released from rest. The

work done on 3 kg block by the force of gravity during first 2 seconds of its motion is
(g=10ms™2)

Béoef” drad 2 kgdboin 3 kg @sgode HEHHD DoHHS Bood 5608, 3kg B )
hdaEdon noo T dedod” Fnddd 2 DEkhed” B985 59 (g=10ms™)

3ke

Options:
1207

3017

L2

3 407

4,307
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Question Number : 89 Question Id : 4557343769 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

A rigid metallic sphere is spinning around its own axis in the absence of external torque. If
the temperature is raised. its volume increases by 9%. The change in its angular speed is

wrarg &G, B8
200NH%, 8 7Y Db

HOET00 9% HOAB FEHN B0, Ehodh H&e5° B8y
Options:

increases by 9%

L 0% =3tk

decreases by 9%

9% 113>

increases by 6%

6% DS

decreases by 6%

6% Sy

Question Number : 90 Question Id : 4557343770 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical
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Two spheres P and Q. each of mass 200 g are attached to a string of length one metre as
shown in the figure. The string and the spheres are then whirled in a horizontal circle about

‘O’ at a constant angular speed. The ratio of the tension in the string between P and Q to that

of between Pand O is

(P 1s at the nud point of line joining O and Q)

287, 8,45 200 g $5g0°8 o Pidbdoin Q @3 Dok Ferd) el hbdh >dd deo oroeds
Heroed” Hras dForr Edard. & o'ord) S80Sy Ferd) af 8z 3Srodd SyFos” ‘O°
sprdorr Rd FdodH Sa8° @S P.Q o Sy ordossd #5gd5 P O o Sy ordoess™
#5550 o INE

(0 6050 Q o> §9% By Hoesy Hoch 3¢ P Eoth)

Options:

1

1 2

tad | 2

L
b |

— | 2

Question Number : 91 Question Id : 4557343771 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The potential energy of a simple harmonic oscillator of mass 2 kg at its mean position is
5 I. If its total energy 1s 9 J and amplitude 1s 1 cm. then its time period 1s

2 kg |85g078 o H6¢ TrordiSF w80 @BNE), 28248 o Srdglos so 88 51 0
Swdo 48 9 J Jobodn Sodd H0HE 1 em. wond &rd =530 sPo0

Options: : . . . . . : . : . .
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| 100

n
i
50

L2

Question Number : 92 Question Id : 4557343772 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Three masses m. 2m and 3m are arranged in two triangular configurations as shown in
figure 1 and figure 2. Work done by an external agent in changing the configuration from
figure 1 to figure 2 is

Sorddy ($SgordHen m, 2m Hdci» 3m Ho 1 Hdotn Hbo 2657 SrHd ddorr Dok
©ehers d @dhdiod® fnd. & (@SgorHe wd0Eh Hbo 1 Hod Hbo 286 drdpydis”
w8 erdrg 5680 B2 H

3m 2m
a a
a
m - = Zm m 3 3m
figure 1 fipure 2

Options:

6Gm’[, 6

[
)
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Question Number : 93 Question Id : 4557343773 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Two equal and opposite forces each F act on a rod of uniform cross-sectional area “a’ as
shown in the figure. Shearing stress on the section AB will be

2,57 8,8 F Dend o Dot S35 H5:805» ég&'{'}"ﬁ peren ‘a’ D868 aquga‘;x,cs STegEn
Ko §¢ D B0’ drhHS Do HD BoSSNHD. B¢ errsn AB D o HFrLS H8no

A

Fée— —>E

Options:
Fsmnfcosh
1 d

Fsin#

da

L2

.Fcosﬁ
3 4

Fsin’ 0

4. d

Question Number : 94 Question Id : 4557343774 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Abody is suspended by a light string. The tensions 1n the string when the body 1s in air. when
the body 1s totally immersed in water and when the body is totally immersed in a liquid are
respectively 40.2 N, 28 4 N and 16.6 N. The density of the liquid is

-

a8 BI8H oo e 5% Beordbohedssd. 55 mods &)y, o Alalon

S0RASHE Soo3n oM 2.8 (B0 S1»IASHE &l SHgden 6B 40.2 N.
28.4 N 508030 16.6 N. (o dB0g), ol
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Options:

| 1200 kgm™

1600 kgm™

L2

2000 kgm™

Lid

2400 kem™

Question Number : 95 Question Id : 4557343775 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Steam at 100 °C is passed mto 1 kg of water contained in a calorimeter at 9 °C till the
temperature of water and calorimeter is increased to 90 °C. The mass of the steam condensed
1s nearly

(Water equuvalent of calorimeter=0.1 kg
Specific heat of water = 1 calg1°C~!
Latent heat of vapourisation = 540 calg™)

100 °C §¢ de O3 D8O 9 °C 5¢ 3650 Mdhes® &) 1 kg (555078 Ko IBS 08 4
528030 858 dndardh SFd 90 °C 007 S65 Hodadsh. (5550 DobS A5 I
G008 835078 HodrouT

(66570 anéth zeo Hergoso = 0.1 kg

HE3 D3NS = 1 calg?oC!

D& eriyafss HPxgsn = 540 calg))

Options:

y Slg

162 ¢

L2

3 243 ¢

486 ¢

Question Number : 96 Question Id : 4557343776 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical
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Three very large plates of same area are kept parallel and close to each other. They are
considered as 1deal black surfaces and have very high thermal conductivity. First and third
plates are maintained at absolute temperatures 2T and 3T respectively. Temperature of the
middle plate in steady state 1s

DT E’E’“E}g&i}}ﬂﬁ.} §@ﬂ@3§5} S0P 8 &:@13@ megen K;d;&gdo DaroddorT iU EE
tﬁ{jdr‘r—* ﬁazma. meEen ﬁégﬁhé fs%éiﬁmﬁn S0, Efﬁﬁg éyg s abderei EQAdaon.
B0GE 5805 Sardd Hode JF HEH Lo SSm 2T 5Bty IT. Jo8d &S
55 Do S | |

Options:

1
(97)T

Question Number : 97 Question Id : 4557343777 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

A thermally insulated vessel with nitrogen gas at 27 °C is moving with a velocity of
100 ms™. If the vessel is stopped suddenly. the percentage change in the pressure of the
gas is nearly

(Assume entire loss in KE of the gas is given as heat to gas and R = 8.3 Jmol 'K )

27 °C 54 fio JETad ToinIE 68) o8 41 I6°EE g 100 ms ! 308 $0308.
= PED wSTHT shHB, souadsod” O Srdy Fdo Hdrdm

(a0 HBe48e5" SR Bndo SN0 Gh ErHos” ToinHE qedSGHEE 5S0 SHBasn
R =8.3 Imol"'K™)

Options:
, 1

www.android.univer sityupdates.in | www.univer sityupdates.in | www.ios.univer sityupdates.in



www.andr oi d. previousquesti onpapers.com | Www. pr evi ousgquesti onpaper s.com | WWw.i 0S. previousquesti onpaper s.com
, 0.93

50

L%
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I3
h

Question Number : 98 Question Id : 4557343778 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Match the following :

Bol 88 a3&5850

erda - 1 erdiae - 11

A) Zeroth law of Thermodynamics I) Direction of flow of heat
GRN6E Grargos Johdsdw &5 Do &%

B) First law of thermodynamics o) Work done is zero
SNEE 30GE QoRanan BOAD S0 Tago

C) Freeexpansionofa gas II) Thermal equilibrium
TF0309) "Eaﬁga‘:& 798 500 &8 SDoehd

D) Second law of Thermodynamics IV) Law of conservation of energy
&RNGE Dodd Do%rBI5M €8 Dgete Ho%do

The correct answer 1s

o

88 DECTHEW

Options:
A B C D
I IV I I

>
v,
!
v,

=
vy
)
w
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Question Number : 99 Question Id : 4557343779 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

For a molecule of an ideal gas. the number density is 24/2 ¥10® em™ and the mean free

=4

path is cm . The diameter of the gas molecule 1s

L

sad) TENY PO Bogry FoBE 242 x10° cm™ So80%w TgeBESHSgHSN

e

10

—CIN =Oa T30 =ad) ﬁ:fﬁ;m
i8

Options:

L 5% 10 cm

5% 10%em

L2

3 25 x10%em

4 4 % 10%em

Question Number : 100 Question Id : 4557343780 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

A sohid ball 1s suspended trom the ceiling of a motor car through a light string. A transverse
pulse travels at the speed 60 cms™ on the string when the car is at rest. When the car
accelerates on a horizontal road. speed of the pulse is 66 cms™!. The acceleration of the car
is nearly (g = 10 ms—2)

8 5% HOoh Ho0d MSHYo S50 Tdos Rerdhohndod. s U %&eﬁ" €5 80)a3) 68
es &eS 8ds5 odso 60 cms! SA&E wo08. 57 Fod ﬁgdmoﬁ“ 8&ez DATrodEd
Gy SOHDHE DodS 5& 66 cms™ lawona o soh $e8ea0 Hrdrdorr (g =10 ms™ %)

Options:

| 43ms™2

2.9 ms—2

L2

6.8 ms—

(&3]
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Question Number : 101 Question Id : 4557343781 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

A reflector is moving with 20 ms™ towards a stationary source of sound. If the source is
producing sound waves of 160 Hz then the wavelength of the reflected wave 1s

(speed of sound in air is 340 ms™)

200m &) G0 BS50 JH) .8 doeHsdso 20 ms! Jfos SErendafl. & 2580
160 Hz &0 dfomred &8 I35 408 H0°ddd Sdofo BnE) $6oigd s
(mde* gD S& 340 ms™)

Options:

17
—1m

17
—m

17
=i

17
4. 16

Question Number : 102 Question Id : 4557343782 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

A light ray mecidents normally on one surface of an equulateral prism. The angle of deviation
of the light ray is

(Refractive index of the material of the prism = \E )

es8 Sdoerao |Ggherstd aﬁ%éo -::T:i:créa:r 2,8 Trende0 » ©ouoT 5708 §8mo dddo Jobdh.
es 5208 88m dded oo
(H88 38 SELSS Mo = J2)

%] (]

Options:

. 60°
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Question Number : 103 Question Id : 4557343783 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Two polaroids are placed in the path of unpolarised light beam of intensity I such that no
light 1s emitted from the second polaroid. If a third polaroid whose polarization axis makes
an angle 6 with that of the first polaroid is placed between the polaroids. then intensity of
light emerging from the last polaroid is

Ip dPdre sE)dEs708 Srdoed” Do ForonGod &oddHd, Dodd FoTond
Syod R0 aﬁjﬂgéé&éﬁﬁcﬁa. % Do) FooTonke mr;ﬁg oS Fooronhd S aﬁﬁﬁgfm
DNEE Foorons FPHeEsnS 0 Foo Solnsly ©9Hdh, s9b Fooons Kok
2:rddi 5708 aEd

Options:

M
[hJsinzZB

Question Number : 104 Question Id : 4557343784 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical
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Two point charges are kept in air with a separation between them. The force between them

is Fy . if half of the space between the charges 1s filled with a dielectric of dielectric constant

1
4 and the force between them s F,. 1f ;l‘d of the space between the charges is filled with

.1:1
dielectric of dielectric constant 9. Then F_ 15
¥

Dok Do saTes a8 SoGig Eod Brdo ﬁoﬁ.é&é@ et doord. sATo Saghgiie
Srlo PBTR) §'E8 Quroso 4 o §Egod” DoHINYE siTe HEg wwo Fp SHdosn

1
esdTe Sdghe 3 S S0k PBTR) 5°¢8 Ruroso 9 e 580’ DobdHYE wdTe Judg

F
pe0 Fy,eond —=
F
Options:
A

, 64

16
sl

L2

81
64

1oo
4 81

Question Number : 105 Question Id : 4557343785 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical
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A simple pendulum with a bob of mass 40 g and charge +2 pC makes 20 oscillations
44 seconds. A vertical electric field of magnitude 4.2 » 10* NC! pointing downward is
applied. The time taken by the pendulum to make 15 oscillations in the electric field is

(Acceleration due to gravity = 10 ms™)

40 g (355072 800 +2 PUC es3Fyr0d Moo w8 oind wso 44 v8ogs” 20 Soaen
D508, 4.2 x 10 NC 1585700 Ko a8 §8aoonom §obE HARoINSG) o8 ddgs
BEd0G HATHoNS, Hgd o' 15 Fooen BoinLK oinstosds Hiy seo
(i8>8g Sesewo =10 ms™)

Options:

L 30 s

60 s

L

3 90s

4 155

Question Number : 106 Question Id : 4557343786 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

A parallel plate capacitor has a capacity 80 x 10~° F when air is present between its plates.
The space between the plates 1s filled with a dielectric slab of dielectric constant 20. The
capacitor is now connected to a battery of 30 V by wires. The dielectric slab 1s then removed.
Then the charge passing through the wire 1s

.8 Darodd Dofe STrodd Hoso My MO E0)HYE 0 Saradl 80 109 F &ob.
© defe Dby &5 @87 20 56 QU080 e 2.8 DOEE Jromr QoRwdss.
Barodbiy @by 30 Vg8 &affen 50" $0dadsh. doxd §CE B8 &Sonado.
RHPE &S HSIrod ddygmrBdo

Options:

L 12x107°C

253 % 1678 C

L2

Ll

120 x 102 C

456x107C

I
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Question Number : 107 Question Id : 4557343787 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Three uncharged capacitors of capacities Cy . C; and C; are connected as shown in the
tigure. A. B and C are at potentials V; . V, and V3 respectively. The potential at ‘O’ 1s

Cy. Cy 5000 C3 Sarddden o Sord =386 8RB HLBNG® Jrvd o
§&ards. A, B Sdosn C o 5§ S8Q0Hd) 5dm Vi, Vydbodn Vs wond, ‘0’ S
Stalslens o]

Options:
ViC+V, G+ V3G
C+Cy+Cy

CCAEV 60,
Cit Ot

.V] Ci—V, G—V3C4
Ci+C,+C;

Zero

5550

Question Number : 108 Question Id : 4557343788 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical
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The equivalent resistance between A and B 1s 6 {). The value of Ry 1s

+ od Seghine® A.B dothde é&ﬁﬁg HOd HE S0 6 Q. =ond Ry Hend

150
A s W

2R, 2.0 230

X

Options:

L 200

10 Q

L-2

Question Number : 109 Question Id : 4557343789 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Abattery of emf 10V is connected to a uniform wire AB of 1 m length and having a resistance
of 10 £ 1n series with a 10 £ resistor as shown in the figure. Two cellsofemf2 Vand 3V
having internal resistances 2 £ and 3 £ respectively are connected as shown in the figure.
If the galvanometer shows null deflection at point J on the wire, the distance of point
J from the point B 1s

10 Q 960 o 1 m &rd3S a8 868 & AB O 10 Q 28'¢os @dies® Heroes® SrHs
o emf 10 V e 2.8 ergh)ds” 030, S65m 2 Q HHdosn 3 Qwodh)di'gren, 2V
00050 3V emf Ao Body Potred Hbodd” S5rhd ddomr Edard. TFE_}{San_'D“EJE &Nﬁg
J flothod) 58 g wHhadso ﬁ:'fi:g? fodhos) B S0 Hothod T s e &rdo

10V
£h 100
]
A B
2V 30
W 3£

Options: _ ) ) ) _ _ _ ) _ ) )
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. 48 em

50 cm

L2

3. 92 cm

S4cm

Y

Question Number : 110 Question Id : 4557343790 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Two mfinitely long wires carry currents 4 A and 3 A placed along X-axis and Y-axis
respectively. Magnetic field at a point P(0. 0. d) m will be (o

Dot wdod FEdIre Gen SHI™ 4AS0cn 3A DEgS P §00, X-wgo
528050 Y-wgre Joad &omjon. P(0.0.d) m Dok 5§ waham o o L
Options:

Ay
 2md

31y
2nd

L2

Tig
; 2md

Question Number : 111 Question Id : 4557343791 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical
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Two moving coil galvanometers. X and Y have coils with resistances 10 Q and 14 €,
cross-sectional areas 4.8%107° m?and 2.4x107> m?. number of turns 30 and 45 respectively.
They are placed in magnetic fields of 0.25 T and 0.50 T respectively. Then the ratio of their
current sensitivities and the ratio of their voltage sensitivities are respectively.

X 50805 Y &3 Bod 568 &fddy mexaddife &5 heo J8ren $6H0m 10 Q
50050 14 Q, 7t wdE's Feorgen 4.8x107° m? H06050 24x107° m?, $Héy domg
30 5oB0s» 45. HESD Sdm 0.25 T 58050 0.50 T wohHnm od g@os® Godsdd ae

DedgE HoDESton VRG 8ok 78 SPe DEhion e SHBm

Options:

. 2. 1 14515
e e (2 |
12513 5 132

4 X4 155 209

Question Number : 112 Question Id : 4557343792 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Two short bar magnets each of magnetic moment 9 Am? are placed such that one is at
x=-3 cm and the other at v=-3 cm. If their magnetic moments are directed along positive
and negative X-directions respectively then the resultant magnetic field at the origin s

e.87,8),83 9&11230635%-3& oo e Both 248 Soddhan oared” &8 T°d x=-3 cm
3¢ S18050 ROFE T°AQ ¥ =3 cmSG oI 8. T8 @oSHET) 08 Erivsten SHIJM GS
08050 200 X-Hf0e” o8 SHredodd 5§ 8 504 wohamod Fi@sn

Options:

L 100T

10T

13

3, 01T

0.001T

I

Question Number : 113 Question Id : 4557343793 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical
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A conducting rod PQ of length 1 m is moving with a uniform speed 2 ms™ in a uniform

magnetic field of 4 T which is directed into the paper. A capacitor of capacity 10 pF 1s
connected as shown in the figure. Then the charges on the plates of the capacitor are

srhido derd8 wowomr, $00d°08 e 4 T 2866 woham od o 1 m e o8
Tars éf% PQ 2 ms™! dSsast schendogb. 10 pF sar0d S0 3arhbhoi BDéBnes”

B8 Sdomr E95a%). wond Earbhérd DO esaeen)

P
® . ®
qa
R X > %
L
% = %
Q

Options:
i q, =80 uC ;| qg=-80 uC

qy=—80uC : gg=+80uC

L-2

qy=+1.25uC ; gg=-1.25uC

4. Qa =125 pC ; gy=+1.25 pC

Question Number : 114 Question 1d : 4557343794 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical
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o ’ . ;
For the ac circuit shown below. phase difference between emf and current is 7 radian as

shown in the graph. If the impedance of the circuit is 1414 £ then the values of P and Q are
ki
4
BAOHH) (FHS” SrHddy ¢ob. & SooHo BnE) w560 1414 Qeons P Sdain Q

808 Sl ac SO00H580, dare $5 H30033 D) [HariTranGEy Sy STEESD

WD
Y -axis
Y-uEc
[P Q] i{/ED

it

%

- I E m N i:
Ez&;;(lﬂﬂt) N v \k—”

Options:

, 1kQ .10 uF
, 1KQ . 1pF

;3 1kQ . 10mH
4 1kQ 1mH

Question Number : 115 Question Id : 4557343795 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

In a plane electromagnetic wave. the electric field oscillates with a frequency
2 « 10'° 57! and amplitude 40 Vo, then the energy density due to electric field is

(e,=8.85 x 10712 Fm™)

a8 dddo Hhgdohimod oo, Hdgs §Fo 2 x 1010 571 FIeHSgo HoBai
40 Vi 1 8058 H502088° Eoaren 33308, wond Jhgs g@o Sob #§ ol
(g,=8.85 x 10712 Fm ™)

Options:

1.1.52 x 107 Jm3

0 254 % 1FY It

.
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5 354 % Y07 T

4 4.56 % 107 Jur?

Question Number : 116 Question Id : 4557343796 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Photons of frequencies equal to the frequencies of . Hg and 'Hm lines of hydrogen incident

on a photosensitive plate whose threshold frequency is equal to the frequency of 'H,:I line
of hydrogen. The ratio of the maximum kinetic energies of the emitted electrons is

TEFes ong) Hg Sodddn 'Hm Ope FHarged d8rd FSadagen de PFrbe
TTESD -H‘Jt O @ng) TFHe)argds DSrSTb esboss THeHBg0o $ONS w8 T SrgyrTs
DOSoH HES0 Bolrow. Y JoEdO f0n fde o M8

Options:

1.7 16

4 5:36

Question Number : 117 Question Id : 4557343797 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Hydrogen atom is in its n™ energy state. If de-Broglie wavelength of the electron is A. then

TEBS H68rend), IO 1S 8§ Fons® &ob. JOFIH BeTo® $8oKBEgS0 A ©ond
Options:

: 1
J*Lm:_z

1 11

1
}LDC_

n

B

1 2
3 A D
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Question Number : 118 Question Id : 4557343798 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

If 200 MeV of energy is released in the fission of one nucleus of zggU_ the number of

nuclei that must undergo fission to release an energy of 1000 J is

$ ZHU Togko 20)8 BobIHG oy €5 200 MeV woxnd 1000 18§ dtiotse
Dodnta s DG sHoRD SolsTe Howg

Options:
| 3.125 x 101

625 % 1083

[

Question Number : 119 Question Id : 4557343799 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

If the diodes are ideal in the circuit given below. then the current through the cell 1s

Bods Qbgss HooHos® dardien sdgBEd el mbothor HHrodl Hgd)

D, 50
L1
[~
D,
& S 30
flgz,
| |
| [
20V 20
Options:
1 4A
a 1.5A
3 2A

www.android.univer sityupdates.in | www.univer sityupdates.in | www.ios.univer sityupdates.in



wWwWw.andr oi d. previousgquestionpaper s.com | W, previousgquesti onpapers.com | WWw.10S.previousguestionpaper s.com

4 3A

Question Number : 120 Question Id : 4557343800 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

If a message signal of frequency 10 kHz and peak voltage 12 V is used to modulate a carrier

wave of frequency 1| MHz. the modulation index is 0.6. To make the modulation index 0.75.
the carrier peak voltage should be

10 kHz &r&3:9550, 398 88 12 Vife w8 3084 S08eq), 1 MHz FdiSgotie oo
$8orrd) S8 DoHEds HRrHoDSH® Srdgdad drd 0.6. S Has Srdd)
0.75 Rddndd o8 d48oid dnd 3@;2&?&

Options:
decreased by 25%

increased by 25%

. 25% Tow®)

decreased by 20%

20% #Hoe®

imncreased by 20%

4 20% oo

Chemistry
Number of Questions: 40
Section Marks: 40
Display Number Panel: Yes
Group All Questions: No

Question Number : 121 Question Id : 4557343801 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical
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If the radius of electron orbit in the excited state of hydrogen atom 1s 476.1 pm. the energy
of electron 1n that excited state in J is

(Radius and energy of electron in the first orbit of hydrogen atom are 52.9 pm and
—2.18x10718 J respectively)

@RS SdSrmode”t @ 85 JoEs €85 argardo 476.1 pm ©woNJBE,

o
e
s

G382 98" Jogs 7§ J 0"

(T &=S D0Srend 3008 g8y Tgrdo, 8 S6dm 52.9 pm. —2.18x10-18 3

—_—

Options:

i —2.42x10718

—19.62x10713

L2

—242x1071

Laa

4 —6.05x10719

Question Number : 122 Question Id : 4557343802 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

A light of frequency 1.6x10!® Hz when falls on a metal plate emits electrons that have
double the kinetic energy compared to the kinetic energy of emitted electrons when

frequency of 1.0x10'® Hz falls on the same plate. The threshold frequency .(Vn) of the

metal in Hz 1s

1.6x10'° Hz o 289550 fo 5708 S d080p H859E sTéHchy Jogs Kéads,
«3 SErdosop 1.0x10° Hz o FSHSGe o 508 HE5HE STEHay JogsSe
A&e:¥88 030 &odnod. &0 AR TFIHDHgo (1) Hz o0&

Options:
| 1x1015

4x1013

L2

Question Number : 123 Question Id : 4557343803 Question Type: MCQ Display Question Number : Yes SingleLine Question
Option : No Option Orientation : Vertical
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To which group and period does the element belong if the electronic configuration of an
element in its —2 oxidation state is 1s22s22p%3s23p%?

-2 =554 Q&S° B af Sreodd 55@5 g 1522522p93s23pS wo0ns
B SoreEdn o rHd, o Hidhds DFodréod?

Options:
period 3 . group 16

| HB0HE 3, D 16

period 3 . group 17
SH000E 3, ey 17

L2

period 4 . group 16
3 580996 4, (57D 16

period 4 . group 17
4 DOCHE 4, G 17

Question Number : 124 Question Id : 4557343804 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Which set of the following molecules has only one lone pair of electrons on their respective
central atoms?

& 1§08 wuHo SDHed’ BHS® BowohE Sos HESraIHoN)ETH 438 wl 2,000 o

ﬁﬂ@‘;ﬁm €5 a7)000?

a) SO, b) XeF, ¢) PbCl, d) SE, e) CIF;

Options:
1 d.C, d

bod

-2

;ab.e

Question Number : 125 Question 1d : 4557343805 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical
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XeF, 1s square planar where as CCly is tetrahedral because

XeF,; 568 dS08005%%, CCl $6H8PaSos™ S sotron. HIE s=¥mo

Options:
In XeF,. Xe' is sp” hybridised and in CCly “C” is sp3 hybridised

XeF4 e5° “Xe’ sp? 5086855006555, CCly 65* ‘C” sp3 H086860065° &odiro

In both XeF 4 and CCl, the central atom is sp? hybridised
XeF,4. CClyBo&odses® Soid Hdirend sp? Hogb8dmoss sodbo

In XeF,. ‘Xe is sp’d® hybridised but due to the presence of 2 lone pairs of electrons
shape 1s square planar whereas in CCly *C is sp> hybridised

XeF, 5. ‘Xe' sp3d? Ho80688m0 Foh, Do 2odd 2obe Jogd &oddo oS
$E0E Db e8RS Godm CClys® ‘C° sp? Gos8bEdmoes” toddio S

Xe 1s a noble gas. whereas C is a non-metal

Xe &) 38 aodns), Cedtdo

Question Number : 126 Question Id : 4557343806 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

16g each of H,. He and O, are present in a container exerting 10 atm. pressure at T(K). The
pressure in atm exerted by 16g each of He and O, in the second container of same volume
and temperature is

H&6 16g Ko Hy. He. Oren T(K) $¢ &8 Fge® 10 atm HifSo $enf@hs, =od H0d
HOSTR0 e Bodd JIFS° ©8 SPWS 54 ©SH 16g Ko He, Oy en geni@d bido
atm ee5*

Options:
, 1.8

6.4

L2

Question Number : 127 Question Id : 4557343807 Question Type: MCQ Display Question Number : Yes Single Line Question

Option : No Option Orientation : Vertical ) _ _ _ . : . .
www.android.universityupdates.in | www.univer sityupdates.in | www.ios.univer sityupdates.in



www.andr oi d. previousgquestionpaper s.com | W, pr eviousgquesti onpaper s.com | WWw.10S.previousguestionpaper s.com

One litre of 0.15M Na,S0O; aqueous solution is mixed with 500 mL of 0.2M K,Cr,04
aqueous solution in acid medium. What 1s the number of moles of K;Cr;O5 remaining in
the solution after the reaction?

z¥ O 0.15M Na,S0; BOTSrd), sy odrdgod” &) 500 mL 0.2M K;yCry05
2o FSrdE €D, S6g G wond dhard ([THeo DAd &) KilrOrdrde
B0Pg JOH?

Options:

01

. 0.0125

L-2

5 0.025

4 0.05

Question Number : 128 Question Id : 4557343808 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

From the following data

: i |

CH3 OHgy+ 591y 70y F2Ha Oy; A8 =706 kFmol ™
' 1 =

Hyg)+5On(e) > H2 O 3 A H =286 kTmol A

. 0 iy -1
C (graphite) T OQ{E} — COy,y 1 A, H =—393 kJmol

The standard enthalpy of formation of CH 3 OH) in kJmol ! is

% \Sof Gerogre Hood

, 3 . o -1
C H3 D‘H{{d} +EOZ{J"} — COE(F}—i_ ZHE D({df:l 5 ‘ﬁ?‘ H =-726 ]:( Jﬂlﬂ]

HZ(J-}"‘%OQ[..;—-) —>Hy Oy 1 A, H° =286 kTmol ™

: : . = il o

Cily DH{.{&"} @575 50§§E‘D QDF@Q kTmol™! x5
Options:
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| —239

Question Number : 129 Question Id : 4557343809 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

At 1000 K. the equilibrium constant. K. for the reaction 2NO Cligy = 2NOy+ Clyg

is 4.0x10%mol L1. The Kp (in bar) at the same temperature is
(R=0.083 L bar K- mol1)

IGGGKEJ_)ﬁ ENOC:F{ }\—END{ }‘H:fg( }L‘-ﬁfﬁaéj méom‘%@ o080,

)

Ke=4.0x10° mol L™, «3 &&puis 5¢ Kp (bar ¢5®) (R =0.083 L bar K~ mol™)
Options:
| 3.32x107°

Question Number : 130 Question Id : 4557343810 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

If the pK, of acetic acid and pKy of dimethylamine are 4,76 and 3.26 respectively. the
pH of dimethy] ammonium acetate solution 1s

Jd38 800 pKy, Ban@S =d0a pKp oo 56:58m 4.76. 3.26 wondd® BpS «ar pitleatle
J0EET om0 @o¥), pH

Options:

f Ao )

6.75

L2

570
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Question Number : 131 Question Id : 4557343811 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Which of the following statements are correct?

a) NaH(s) reacts violently with water to form NaOH and H,
b)  Anexample for electron rich hydride is NH;

¢)  Nickel forms saline hydride

Bob DSBS HHDEH DD?

a) NaH(fo), O&58° Demtsor $8gT0s NaOH S5:8050 Hy o Y0050
b) QEEE@J DB fe :@EE% NH;j &8 &g,

c) I8 DB T@ES Wlepa LRS!

Options:
T

b.c

L2

5 a. b. ¢

Question Number : 132 Question Id : 4557343812 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Which of the following nitrates on heating does not give its oxide?

§08 2 JEESH BARDIDH ©b T wHED ked?
Options:

| LiNO;

NaNO;

3, Ba(NOs),

Be(NOy),

I

Question Number : 133 Question Id : 4557343813 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical
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BF; reacts with NaH at 450K to form NaF and X, When X reacts with LiH in diethyl ether,
Y 1s formed. Whati1sY?

450K Ei":ng, NaH & BF; tﬁ'da{?ﬂ’fj NaF 508030 X 2080 bﬁ&ﬁﬁ}{}ﬁj. X aERS 35057
LiH &° $58gmra0s558 Y I6dod. Y67

Options:
, LiBO,

Li,B,0,

L-2

; LiBH,

B,Hg. LiH

Question Number : 134 Question Id : 4557343814 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Assertion (A): [SiFg]> is formed but [SiCls]* is not
Reason (R):  Electronegativity (EN) of F is higher than EN of Cl

D3ydo (A): [SiFg]> 28608 578 [SiClg]*DdyekesH
s*dao (R): F @o08), Sraddgord 8 (EN), Cl @ng), EN 508 28,5

Options:
Both (A) and (R) are correct and (R) is the correct explanation of (A)

. blelovhb) Do D00 08030 . D 0 el
l_é.aﬁoﬁa céJ*éa_:ﬁzjno:ﬁ R)Aé“L‘S ile]

Both (A) and (R) are correct but (R) is not the correct explanation of (A)
_ (A) S08a3» (R) en Bodr 3850 50 (R). (A) & £508 Db s

L2

(A) 1s correct but (R) 1s not correct

, (A)3p58 0 (R) 3856 5265

(A) 1s not correct but (R) 1s correct

, (A)Eps5 55 50 (R) 8956

Question Number : 135 Question Id : 4557343815 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical
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The environmental friendly chemical now-a-days used for bleaching the paper in the presence
of a suitable catalyst is

B Ferd sherod H5%o BoRErAs HO8 &@)08 SHEod” sH@riod HurgSdm
orrdd darodiido
Options:

Chlorine

L £09

Sulphur dioxide
Send @ )6

1. W= R

Hydrogen peroxide

- -
FB0 DORG

3 a®

u
PE

Bleaching powder
A sgoad wrgo

Question Number : 136 Question Id : 4557343816 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The IUPAC name of the following compound is

§ob 330¢S0 Bwg TUPAC oo

/F\/\/ S
Options:

5 - Cyanopentan - 2 - one

. 5- AlrIcEn -2-80

5 - Oxohexanenitrile

5 - ﬂfsﬁf}‘“ﬁé_}ﬁ@@@

4 - Oxopentanenitrile

4 - 58 20BIZBS
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2 - Oxopentanenitrile

Question Number : 137 Question Id : 4557343817 Question Type: MCQ Display Question Number : Yes SingleLine Question
Option : No Option Orientation : Vertical

Identify the correct statements from the following

a.  Petrol and CNG operated automobiles cause less pollution

b.  Alkanes having tertiary hydrogen can be oxidized to alcohols by KMnO,
¢.  Methane can be prepared by Kolbe's electrolytic method
d

Alkyl chloride on reduction with zinc and dilute hydrochloric acid gives alkane

Soh rtied® HOGNH DIdmod Hiodod
a IS 805w CNG & 563 sifandSen €55 senigo §dazon

b. BooNs TE RS &) =800 KMnO, & 88600 Sod so)fdod J8daron

c. SNBSS 58 éjcﬁsgfﬁnﬁ*{lm aﬂg@ oo Sasrd Eﬁoéjaﬁaﬁjﬂ

@SOS siyo BHgos” §ohdoo Bob B8 S5 85508

ol
—_

o

B

d. @_—EEJ“EIE_‘T 3‘;@_5 208,

Options:

1 b.c.d

a.b

L2

a.b.d

Question Number : 138 Question 1d : 4557343818 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

What are X and Y in the following reaction?
8ob $S6geS* X 558050 Y e 2D?

(1)03

Pent— 2 —ene @ZaH,0 s N+Y
0085-2-#0

X b
Options:
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| CH3CHO CH;CH,CHO

, CH;CH,CHO CH,;CH,CHO
, CH;CHO (CH;3),CO
, CH;CHO CH;CHO

Question Number : 139 Question Id : 4557343819 Question Type: MCQ Display Question Number : Yes SingleLine Question
Option : No Option Orientation : Vertical

The total number of body centred lattices possible among the 14 Bravais lattices is

14 5oy gD ares o Soddid wodiEofd mrosen
Options:

-
], 2

Question Number : 140 Question Id : 4557343820 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The measured osmotic pressure of a solution prepared by dissolving 17.4 mg of K;,S0, n
2L of water at 27 °C is 3.735%10-3 bar. The Van't Hoff factor is

(R=10.083 L bar K-1 mol-! : atomic weights K=39:5S=32:0=16)

27°C 58, 17.4 mg K,80, % 2L HBS* 880K I6)BS (8 §O08 St
DSSy 3.735%1073 bar. arotrD 8o Jod? (R =0.083 L bar K- mol-! ; $d5me0
sroreny K=39:8S=32:0=16)

Options:

| 2.84
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Question Number : 141 Question Id : 4557343821 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Dissolving 120 g of a compound (mol.wt = 60) in 1000 g of water gave a solution of
density 1.12g mL-!. The molarity of solution is

120 g:ﬁﬁoyﬁéo (eepoeedo = 60)5) 1000 g At3e5® E6A0DSD G 1.12 gmL-1 frodd Ko
8000 J6YB0H. & |°H0 Iredd

Options:
. L.oM

L-3
!-J
=
i
=

1=
e
=
<

Question Number : 142 Question Id : 4557343822 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

When an aqueous solution of CuCl, is electrolysed using Pt inert electrodes. the reaction
at cathode and anode respectively are

CuCl, 2ogrdmo Pt e Qﬂ@‘féﬂé“ DedgHIENRe BHSDYD R, sIBe 5§ Sdgen
Sdm (s=0 1= g=a ; ag = 20)

Options:

—4e

_'._4 I MRS
1 4H20{‘r} ;}EHE £) + 40H{m}):‘ EHEO{I} 4}03(33 +4H+{ﬂq]

(

24 +de . —de +
2Cu™" gy ————>2Cuy : 2H,0() ——05 1+ 4H (ag)

2y +2e . = —Je
Cu {aq} 4}'C11(5j ¥ Cf{aq}% CIZ(E:I

+2e~ == J = —Ze
EHEDG‘)%HE{E} +20H{aq) . & [:ﬂg};}c"fz(gj

Question Number : 143 Question Id : 4557343823 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical
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Thermal decomposition of HCOOH 1s a first order reaction and the rate constant at T(K) 1s
4.606x1073s71, The time required to decompose 90% of initial quantity of HCOOH at
T(K) in seconds 1s

HCOOH &3 Jdrdo a8 @dd Edrog 305 T(K) 3¢ e «dg Fe] 5% Q207080
4.606x107s7! wonsda T(K) ¢ HCOOH wdoef H85rm0 90% HDBrKSn Bodms
58 500 DEogSt Jok?

Options:

| 100

500

L

Question Number : 144 Question Id : 4557343824 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Which one of the followimng statements 1s not correct?

& Bod 2¢3e5* A6 JBGE BB TE?

Options:
A muxture of dinitrogen and dioxygen at room temperature is an example for aerosol

| BIET2S, Buheseo Mo {6 eFid 36 QTS5 nE &g

Lvophilic sols are more stable compared to lyophobic sols

DFBTDOE FSen IBrIFHE Fde §0d JB), &3 %‘:cﬁr:m‘* £ 04700

Formation of micelles is possible only above Kraft temperature

ER SFS S0 S SIS ¢ S DG ddydEbo dghdidoh
An example for a soap is sodium stearate and an example for detergent is sodium

lauryl sulphate
fESo%0 ”ﬂo:is-ﬁt'i_l Bepg Gorirdee, Sdco o0S 55&&5— BL00EE o dn

Question Number : 145 Question Id : 4557343825 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical
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In Ellingham diagram. the plot is drawn between

SO0 Do Dés S5285g Bgﬁﬂ@@ fiards

Options:
Temperature . AH®

&, AH°

Temperature . AG®
sads, AG®

Pressure . AS®
5850, AS°

Lsd

Temperature . AE®
, S, AE°

Question Number : 146 Question Id : 4557343826 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Identify the reaction which does not liberate N,

o
"

A
i
|

rdse Bkl SEgHy HB0EHM

(NH,), Cr,07 ——> 2

NH,C/ +Ca(OH), —> ?

Lad

: T 9
5 Baﬂ\3)2 T} {

Question Number : 147 Question Id : 4557343827 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Identify the molecule which contains lone pair of electrons on the sulphur atom

;’3&:;,5 HEST0D S Bobdd ":’UEEE 208y &) @) HBodod
Options: _ _ _ _ _ _ _ _ _ _ _
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 H,S0:
, HyS;04
. 18,0

, H:S0;

Question Number : 148 Question Id : 4557343828 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Which statement about noble gases 1s not correct?

&) v ToinHos Hoaohodd worod® HETSH TIE IB?

Options:
‘Xe’ forms XeFg under suitable conditions

‘Xe’ dore8o D006 ﬁﬁ%sﬁ}@ﬂﬁ XeFg oo Bdgi‘ijiﬁasﬁj

*Ar’1s used in electric bulbs
AT HgSE monwe” SHDBTATE

The number of lone pair of electrons present on Xe in XeF, is 3.

XeF, 5° Xe 28 3 eobd Qt}@‘:ﬁ 220808700

“He’ has the highest boiling point among all the noble gases

©d) ) Todnge 508 ‘He'do wdghs wilnjaﬁaﬂéﬁ ﬂ{;;ﬁo &0

Question Number : 149 Question 1d : 4557343829 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Crystal field splitting energies for octahedral (A) and tetrahedral (A;) geometries caused
by the same ligands are related through the expression

BTG (Ag) $003n BETIEES (A) s8be Bofaon &l Brobed IHASHYE

(%} o

)58 B Defeddg Somoprd) drdod Sr@dm

Options:

1 Ag= A
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Question Number : 150 Question Id : 4557343830 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

In Lanthanide series. the element well known to exhibit +4 oxidation state 1s

o

ﬂj-jfﬁﬁﬁ@;ﬁfﬁﬂ +4 Eé}éd;@ ’F;g-si'%a BEoEdos” Paddd dreso
Options:
1. Ll_‘l

1 Ce

Question Number : 151 Question Id : 4557343831 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

In anionic polymerisation. the compound which acts as effective chain initiator is

s3SrdE FOHEESn0s PerardE Hope @rdogiforr HdE R JEAnFSo

g3 : t

Options:

L. BF3

- (CH,C0),0,

]

SnClp

Lia

, R-Li

Question Number : 152 Question Id : 4557343832 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical
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Which one of the following is the structure of lactose ?

§ob i3S" Qb 88 D0°ed) Be)EI0h?

Options:
E'H..DH
|
OH OH
CH,OH CH,0H
HO A H H H
H
OH H
H OH

L3
o
)
=i

s

o

i

3,
CH.OH CH,0H
HO < H H H
H
H i H
4 H OH H H

Question Number : 153 Question Id : 4557343833 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical
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Which of the following statements are correct?

a)  Drugs that mimic natural messenger by switching on the receptor are called agonists
b)  Shape of the receptor does not change after attachment of chemical messenger
c) A cationic detergent is formed when stearic acid reacts with polyethylene glycol

d) Seldane is an antithistamine

§08 e3¢5 BBGHE DSden JD?
a) OFa SSrod oirsed edHidoo 3D rIwd) 36Hod Hohed @ods

Deartofsoen wodrd)
b) darchs Jddrerd o wdhE) S dhard rdrgo w5edo Srdd
c) POoHBE w0, FOBOI NS 6508 SLOSrIE &igod] JdyEE 08

d) ORI, rHHS GG

3

Options:

 b.c

a.b.c

Question Number : 154 Question Id : 4557343834 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Identify the major products X and Y in the following reactions

So& wogee” HEd aSionen X Hdokn Y o Hiodhdn

: = =
O =
.
b) Peroxide
=oHE

X X

Options:
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Br

!

Br

Br

Br

3.9.79
R

Br

-
't

Br

Question Number : 155 Question Id : 4557343835 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Identify A and B in the following reactions

Boh ddgoed A.Bod HBoHdn

O-amoOmaen

A

Options:

I H;C -0

CH,I HO

—

sNsN<R

CH,OH

IH,C-O

eNelieNe
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Question Number : 156 Question Id : 4557343836 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Identify A. B and C in the following reactions

ol ddgos® A, B, C ok hlophn

[sopropyl chloride DB 5 CSBK g MO 5+ Todoform
5:-@&&}3552@5 SO30E G0
A B C
Options:
, CH; CH,CH,OH CH; CH,CH,CHO CH; CH,COONa
, CH;3 CH,OH CH3 CHO HCOONa
CH;—CH-CH; CH;COCH; CH;COONa
|
3 OH
CH;-CH-CH-CH; H;C-C-C-CH; CH;COONa
I .
4 OH OH O O

Question Number : 157 Question Id : 4557343837 Question Type: MCQ Display Question Number : Yes SingleLine Question
Option : No Option Orientation : Vertical
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Match the following
List-1

A) Lucasreagent

B)

C) Tollens reagent
D) Stephenreaction

Sod

ardia -1

Clemumensen reagent

458 eadHnddhdn

A) eorsd 5880

B) 3Toade s68o

C) &'Ba) 5680

D) %

The correct answer 1s

o

:ﬁ{jg

SBGE HAPTHEN

Options:

A

| =

4. IV

B
ET

B
E’T

td

C
I

D
I

RIIT

1{7’

S8 g8%

List-11

SnCl, +HCL H30+
[Ag(NH;3),["

Anhydrous ZnCl, | cone. HCI

Zn—Hg | conc. HCI
CsH-SO,Cl

e - 11

SnCl, + HC1. H,0™
[Ag(NH;),["

wag ZnCly | e HCl

Zn—Hg|md¢ HCI
CH:S0,Cl

Question Number : 158 Question Id : 4557343838 Question Type: MCQ Display Question Number : Yes Single Line Question

Option : No Option Orientation : Vertical
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What are A. B and C m the following reactions?

Bob S6gos® A, B. Cef hiodsn

: ; Hightﬂngerim
Phthalic acid +NH; —> A —2 s B 2282308
7O w0
A B
Options:

H4NGOC—@—COONH4 'Hzrmc@'cmw

' o8 ;
@— CH, COONH, @ CH, CONH,
2y

oe |
oo |
COONH, CONH,
@j' oe @:
COONH, CONH,
4

C

e
@—' CH,CN

<6l
CH,

/

NH

Question Number : 159 Question Id : 4557343839 Question Type: MCQ Display Question Number : Yes Single Line Question

Option : No Option Orientation : Vertical
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What are A and B 1n the following reaction sequence ?

=

Propiomnitrile + A . 249 > propiophenone

Bob dorgEsoos® ASBain Ben 22?

+

@oEr3BS 14,5 WO, @HETLSS

A

B
Options:
NMeBr
|
| CEHSMLEBJ CHgCHE —C— CEHS
NH
A CEHEI"-‘IgBl' CHE,CHQCHE i Cz Hg
NMgBr
, CoH;MgBr CH,CH, — C— CgH;
I|‘~|JH
4 C6H5CH2MgB1 £ H3 CHICHE — CHE CﬁHS

Question Number : 160 Question Id : 4557343840 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

_ H, / Catalyst _
. ;i_é""- ; =
C,H:Cl _KCN X HEE N il SR
& £ alc. KOH
55&,#&35 KOH

What is *Z" in the above sequence of reactions?

D BHESD SEgest ‘27 wiolsh 67
Options:

N AT

1.
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